

Penthouse in Fgura



Fgura, South



€319,000

Reference No: 240231092-61

 Total Rooms: **6**

 Floor Area (m²): **101**

 Bathrooms: **2**

 Bedrooms: **2**

Penthouse - For Sale - Fgura

FGURA PENTHOUSE - Located close to all amenities and served with Lift, this property comprises a Kitchen/Living/Dining having direct access to the Front Terrace, 2 double Bedrooms with the main having an En-Suite, a guest Bathroom, a Laundry room and a back Balcony. This property is being sold in shell form with an option to be finished at an extra cost. Completion Mar 2027, Freehold.

Features

- ✓ Terrace
- ✓ Space For Pool
- ✓ Air Space
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 6.28 x 5 m (31.4 m²)
- ✓ Double Bedroom : 5.78 x 3.14 m (18.15 m²)
- ✓ Single Bedroom : 3.26 x 2.59 m (8.44 m²)
- ✓ Bathroom : 3 x 2 m (6 m²)
- ✓ Bathroom Ensuite : 2 x 1.4 m (2.8 m²)
- ✓ Laundry : 1.7 x 1.5 m (2.55 m²)
- ✓ Open Space : 5.78 x 3.28 m (18.96 m²)
- ✓ Open Space : 0.78 x 5.78 m (4.51 m²)
- ✓ Open Space : 7.59 x 2 m (15.18 m²)

Gallery





Mauro DeFlavia

RE/MAX Centerparc - Qormi

M: 79604060

E: deflaviam@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta